PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
COTTON						
Lint - Irrigated		498.0	875.00	435,750	lbs.	\$226,590
Lint - Non-irrigated		5,900.0	820.00	4,838,000	lbs.	\$2,515,760
Seed - Irrigated		498.0	1,400.00	697,200	lbs.	\$38,346
Seed - Non-irrigated		5,900.0	1,312.00	7,740,800	lbs.	\$425,744
Cotton (Total)	17	6,398.0				\$3,206,440
FORESTRY						
Pulpwood						
Pine				172,335	cords	
Hardwood				35,668	cords	
Pulpwood (Total)				208,003		
Chip & Saw				2,449	cords	
Saw Timber						
Pine				36,629,061	board feet	
Hardwood				2,397,601	board feet	
Saw Timber (Total)				39,026,662		
Total Pulpwood, Chip & Saw,	,					\$32,518,221
Saw Timber FOB Mill						
Total Forestry Stumpage						\$17,969,269
Christmas Trees	*			1,200	trees	\$48,000
Forestry (Total)						\$32,566,221
FEED GRAINS						
Corn	32	15,577.0	138.00	2,149,626	bu.	\$4,922,644
Grain Sorghum	*	1,407.0	62.00	87,234	cwt.	\$348,936
Feed Grains (Total)		16,984.0				\$5,271,580
HAY FOR SALE		,				
Grass	18	10,000.0	3.00	30,000	tons	\$1,500,000
Hay for Sale (Total)		10,000.0		,		\$1,500,000
		,				

Page 1 of 5

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HOME GARDENS	4,500					\$1,350,000
PECANS						
Improved	50	3,000.0	1,000.00	3,000,000	lbs.	\$3,450,000
Native	75	3,000.0	600.00	1,800,000	lbs.	\$1,080,000
Pecans (Total)		6,000.0				\$4,530,000
RICE	*	4,295.0	62.00	266,290	cwt.	\$1,477,910
SOD PRODUCTION	*	450.0			acre	\$1,595,700
SOYBEANS	25	13,280.0	38.00	504,640	bu.	\$3,355,856
VEGETABLES		,		,		
Southern Peas (Fresh)	*	15.0	85.00	1,275	bu. (24 lbs.)	\$25,500
Vegetables (Total)		15.0				\$25,500
WHEAT	*	1,230.0	40.00	49,200	bu.	\$158,424
TOTAL ALL PLANT ENTER	RPRISES	-,		,		\$55,037,630

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
AQUACULTURE						
Crawfish (Farm)	14	2,000 Acres in Prod.	1,200,000	lbs.	\$780,000	
Catfish (Farm)	*	350 Acres in Prod.	1,750,000	lbs.	\$997,500	
Aquaculture (Total)					\$1,777,500	
FRESHWATER FISHERIES						
Catfish (Wild)	*		12,500	lbs.	\$5,838	
Buffalo	*		5,000	lbs.	\$770	
Gar	*		1,500	lbs	\$1,383	
Other Finfish	*		1,250		\$228	
Freshwater Fisheries (Total)			,		\$8,218	

Page 2 of 5

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
FUR ANIMALS				207	pelts	\$1,097	
ALLIGATORS (WILD)				2,025	ft.	\$44,550	
HUNTING LEASES	35	400,000	No. Acres Leased		acre	\$2,200,000	
TOTAL ALL FISHERIES	& WILDLIFE ENTERPRISES					\$4,031,365	

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,750	head	\$635,898
400-500 lbs.			2,750	head	\$1,149,514
500-600 lbs.			3,250	head	\$1,493,278
600-700 lbs.			5,000	head	\$2,600,000
Steer Calves (Total)					\$5,878,689
Heifer Calves					
300-400 lbs.			2,000	head	\$640,220
400-500 lbs.			2,200	head	\$829,323
500-600 lbs.			4,000	head	\$1,703,680
600-700 lbs.			2,500	head	\$1,218,750
Heifer Calves (Total)					\$4,391,973
Yearling Cattle					
600-700 lbs.			6,000	head	\$3,120,000
700-800 lbs.			5,000	head	\$2,812,500
Yearling Cattle (Total)					\$5,932,500
Cow-Calf Pairs			2,500	pair	\$1,800,000
					$\mathbf{D}_{a} = 2 \circ \mathbf{f} \mathbf{f}$

#### ANIMAL ENTERPRISES PRODUCTION

Page 3 of 5

ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES						
Cull Cows				3,500	head	\$1,155,788
Cull Bulls					head	\$438,300
Cattle & Calves (Total)	300	25,000	No. Cows	000	neud	\$19,597,249
HORSES	500	25,000	110. 00115			¢19,897,219
Brood Mares						
Race Horses	*	25	No. Brood Mares	5	head	\$30,000
Show Horses	*		No. Brood Mares		head	\$24,000
Recreation Horses	20		No. Brood Mares	-	head	\$300,000
Brood Mares (Total)						\$354,000
Stud Fees						+,···
Race Horses	*	4	No. Stallions	40	mares bred	\$100,000
Show Horses		5	No. Stallions	25	mares bred	\$37,500
Recreation Horses		25	No. Stallions	75	mares bred	\$7,500
Stud Fees (Total)						\$145,000
Race Horses	*			20	head	\$200,000
Show Horses	*			22	head	\$88,000
Recreation Horses	25			600	head	\$600,000
Horses (Total)						\$1,387,000
POULTRY						
Broilers	32			110,000,000	lbs.	\$67,100,000
Cull Hens				6,600,000	lbs.	\$990,000
Breeder Flocks	22		No. Birds	13,750,000	doz. hatching	\$5,225,000
					eggs sold	
Poultry (Total)						\$73,315,000
QUAIL	*	100	No. Breed	600	each	\$1,200
			Stock			
SHEEP						

	ANIMAL ENTERPRISES PRODUCTION   Jumber of Units of Total Units of Gross Factor								
Animal	Producers	Production		Production	Measure	Value			
SHEEP									
Wool		40	No. Sheared	240	cwt.	\$38			
Slaughter Lambs				15	head	\$1,472			
Show Lambs				45	head	\$12,375			
Cull Sheep				8	head	\$280			
Sheep (Total)	*	40	No.Breeding Ewes			\$14,165			
GOATS									
Show Goats					head	\$11,250			
Slaughter Goats					head	\$51,000			
Stocker Goats					head	\$9,750			
Cull Goats				75	head	\$3,150			
Goats (Total)	10	500	No. Does			\$75,150			
SWINE									
Show Pigs				-	head	\$6,000			
Feeder Pigs					head	\$900			
Slaughter Hogs					head	\$24,700			
Culls				12	head	\$1,320			
Swine (Total)	*	20	No. Sows			\$32,920			
EXOTIC ANIMALS									
Deer/Antelope	*	30	No. Animals	20	head	\$2,500			
Exotic Animals (Total)						\$2,500			
NEW - PULLETS	*	1	birds	144,000	Value	\$144,000			
TOTAL ALL ANIMAL EN						\$94,425,185			
NATCHITOCHES PAI	RISH TOTAL					\$153,494,179			